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Soluciones.

Matematicas 3° ESO

© FerMates

1.-

1
a) (5 ,Oj 01
c) (00) (00)
e) No corta eje O{O,—éj

1
g) (5 ,Oj 0)

b) 30) (20) (06)
d) (00) (00)
40 @O0 (012

h) (2 ,oj 0-2)

a) Lineal, m%, n=0

c) Afinp m=4, n= -1
e) Lineal, m= -4, n=0

g) Afin; m:—g, n=1

b) Afin; m= -2, n=1

d) Afin; m%, n=2
f) Afin; m= =3

h) Lineal; m= 2, n=0

3.- (Representacion gréfica)

4.-
a) Secantes, (3, 8)
b) Secantes(%,lj
c) Paralelas
d) Coincidentes
5.-
a) Par b) Impar
c) Par d) Par
e) Par f) Par
g) Ni par ni impar h) Ni par ni impar
6.-

a) y=3
1.9
b) y==x+—
)y 2X*5
c) y=3x+11




